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= 114,616 114,616 0
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Al 508,036 408,036 100,000
- 1,810,466 1,788,243 22,223
I3 A 2 2,723,975 2,609,095 114,880
= 114,616 114,616 0
s 400,000 400,000 0
Al 508,036 408,036 100,000
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s 400,000 400,000 0
Al 403,303 403,303 0
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03 A2 5,090 7,890 A 2,800
OZ 29 e=2st 0 2,800 A2,800
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tzd 29 92,679 95,199 A 2,520
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01 AL ESFH SH 25,570 24,670 900
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O=Al 2 2 & 4,500,000 ~1CH 4,500 5,000 A 500
OZgdy 7¢ 1,000,000 *3CH 3,000 0 3,000
OAMEIl 7L 400,000 104 400 0 400
g2 228d 1,049,000 1,000,000 49,000
s 400,000 400,000 0
Al 300,000 300,000 0
T 349,000 300,000 49,000
405 Tttt FH S 49,000 0 49,000
01 AL ESFH SH 49,000 0 49,000
O=M2 2l28E =23 7¥ 49,000,000& 49,000 0 49,000
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Al 100,000 0 100,000
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Al 90,000 0 90,000
405 TtobH S| 90,000 0 90,000
Al 90,000 0 90,000
02 TN 90,000 0 90,000
OEMd-Y 90,000 0 90,000
== B 40,000,000& 40,000 0 40,000
Al 40,000 0 40,000
—=EZE N2 50,000,000& 50,000 0 50,000
Al 50,000 0 50,000
NENME SI2EN BIZUHE XA 10,000 0 10,000
Al 10,000 0 10,000
405 TtobFH SHI 10,000 0 10,000
Al 10,000 0 10,000
02 TN 10,000 0 10,000
O=AM—-Y 10,000 0 10,000
-HREA2 5,000,000 5,000 0 5,000
Al 5,000 0 5,000
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= AHBES BE(EH2) 7,343 0 7,343
802 Btet= Il Et 7,343 0 7,343
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O3S M2 N2t Al HE ALY 3,188,490 3,189 0 3,189
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